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From the following data compute the value of P70.

C.I. 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100
fi 5 7 10 16 11 7 5 4 3 2

C.I. fi C. F.
0-10 5 5
10-20 7 12
20-30 10 22
30-40 16 38
40-50 11 49
50-60 7 56
60-70 5 61
70-80 4 65
80-90 3 68
90-100 2 70

N=70

Percentile divides data set
100 equal parts.
Computing P70 :
We have, 70N

100 = 70X70
100 = 49

Cumulative frequency just
greater than 49 is 56. So, the
corresponding class is 50-60
the 70th percentile class such
that l=50,f=7,h=10,F=49
So, P70 = l +

70N
100 −F

f xh
Then
P70 = 50 + 49−49

7 x10=50
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